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Weekly assessment (14)

Second Year Preparatory Second Term 2024 — 2025 BN 0 ;o-g-h-"-”llg“a-gj-ll 5500

Algebra: Exercises for unit Three L)) oRLl ekl Rl 5yladl

Geometry: Exercises for unit Five i gl | g et ey
First Group

1) Determine the type of the triangle ABC according to its angles if AB = 8 cm,

BC=10cm, AC=6cm.

2) In the opposite figure: D
3¢,
m (¢« B) =90°, AB=3cm, BC =4 cm, y
f
= = <2
AD =13 cm, DC =12 cm. % =
cn
Prove that:
FIOVE 1at .
C 4cm B

m (¢« ACD) = 90°
3) If the probability that a player will score a goal is 0.7, find the probability that

he will not score a goal.

4) If a fair dice is thrown once, then find the probability of appearing an odd

number.

5) A class has 40 pupils, if the probability of choosing a boy is 0.6, then find the

number of girls.



Weekly assessment (14)

Second Year Preparatory Second Term 2024 — 2025 BN 0 ;o-g-h-"-”llg“a-gj-ll 5500
Algebra: Exercises for unit Three L)) oRLl ekl Rl 5yladl
Geometry: Exercises for unit Five i gl | g et ey

Second Group

1) Determine the type of the triangle ABC according to its angles if AB =6 cm,

BC=10cm, AC =12 cm.

2) In the opposite figure:

m (¢« D) =90°, AB=8cm, AC=17 cm,
D

2em
DC=9cm, DB =12 cm. B
=
Prove that: S ‘%
m (2 ABC) =90° C [7cm 4

3) If x is the probability of the impossible event and y is the certain event, then
find the value of 3* + 27,

4) If a fair dice is thrown once, then find the probability of appearing an even

number.

5) A class has 35 pupils, if the probability of choosing a girl is 0.6, then find the

number of boys.



Weekly assessment (14)

Second Year Preparatory Second Term 2024 — 2025 BN 0 ;o-g-h-"-”llg“a-gj-ll 5500

Algebra: Exercises for unit Three L)) oRLl ekl Rl 5yladl

Geometry: Exercises for unit Five i gl | g et ey
Third Group

1) Determine the type of the triangle ABC according to its angles if AB = 11 cm,

BC =13 cm, AC =10 cm.

A
2) In the opposite figure:
ABC is a triangle in which:
m (2 BAC) =90°,and D € BC -
B 9cm D 16cm C

Such that; AD 1 BC,DC =16 cm, DB =9cm
Find: The length of AD

3) If x is the probability of the impossible event and y is the probability of the
certain event, then find the value of 2x + 5y
4) If a fair dice is thrown once, then find the probability of appearing a prime

number.

5) A class has 32 pupils, if the probability of choosing a boy is 0.5, then find the

number of girls.





